

Fekete-Szegő Coefficient for the Janowski A - Q -Spirallike Functions in Open Unit Disk

Read. S. A. Qahtan, Hamid Shamsan, S. Latha

Abstract In this paper we look at functions which are Janowski α - q -spirallike associated with the m^{th} root transformation using the concept of the q -derivative introduced by Jackson[6] Specifically we look at functions f which are Janowski α - q -spirallike with power series of the form $f(z) = z + a_2 z^2 + a_3 z^3 + \dots$

Keywords : Convex functions, Janowski α - q -spirallike, Subordination, Hadamard Product, Fekete-Szegő Inequality.

I. INTRODUCTION

Let $E = \{z : |z| < 1\}$ be the unit disc in the complex plane, and let $\Omega = \{\omega : \omega \text{ analytic in } E, \omega(0) = 0, |\omega(z)| < 1, z \in E\}$.

Equivalently (2), may be written as

∞

$$\partial_q f(z) = 1 + \sum_{n=2}^{\infty} [n]_q a_n z^{n-1}, \quad z \in E, \quad (3)$$

Then

$$\mathcal{P}(A, B) = \left\{ p : p(z) = \frac{1+A\omega(z)}{1+B\omega(z)}, -1 \leq B < A \leq 1, \omega \in \Omega \right\}$$

. Let A denote the class of functions of the form

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n \quad (1)$$

which are analytic in the open disc E normalized by $f(0) = 0, f'(0) = 1$. In [6] Jackson introduced and studied the concept of the q -derivative operator ∂_q as follows

$$\partial_q f(z) = \frac{f(z) - f(qz)}{z(1-q)}, \quad (z \neq 0, 0 < q < 1, \partial_q f(0) = f'(0)) \quad (2)$$

$n=2$

Equivalently (2), may be written as

∞

$$\partial_q f(z) = 1 + \sum_{n=2}^{\infty} [n]_q a_n z^{n-1}, \quad z \in E, \quad (3)$$

where $[n]_q = \frac{1-q^n}{1-q}$, note that as $q \rightarrow 1^-$, $[n]_q \rightarrow n$.

Ganesan[9] introduced the

class $S_{\alpha}^*(A, B)$ as the class of functions f such that $\frac{zf'(z) - i \sin \alpha}{\cos \alpha} \in \mathcal{P}(A, B)$, where α is real and satisfies $|\alpha| < \frac{\pi}{2}$. Now we define the q -analogue of the class as the following:

Definition 1.1. For real $\alpha, (|\alpha| < \frac{\pi}{2})$ a function $f \in A$ given by (1) is said to be in the class of Janowski α - q -spirallike functions in unit disk if and only if

$$e^{i\alpha} \frac{z \partial_q f(z)}{f(z)} = p(z) \cos \alpha + i \sin \alpha, \quad z \in E, \quad (4)$$

Definition 1.2. If $f \in A$. Then the m^{th} root transform is given by

Revised Manuscript Received on July 08, 2019.

First Author Name, his/her department, Name of the affiliated College or University/Industry, City, Country. Email: xyz1@blueeyesintelligence.org

Second Author Name, department, Name of the affiliated College or University/Industry, City, Country. Email: xyz2@blueeyesintelligence.org

Third Author Name, department, Name of the affiliated College or University/Industry, City, Country. Email: xyz3@blueeyesintelligence.org

$$G(z) = [f(z^m)]^{\frac{1}{m}} = z + \sum_{n=1}^{\infty} c_{mn+1} z^{mn+1} \tag{5}$$

II. Main results

We need the following Lemmas to prove our main results:

Lemma 2.1. [2] If $\phi \in \Omega$ and $\phi(z) = \phi_1 z + \phi_2 z^2 + \dots, (z \in E)$ then (6) if $\mu \leq -1$,

$$|\phi_2 - \mu \phi_1^2| \leq \begin{cases} 1, & \text{if } -1 \leq \mu \leq 1, \\ \mu, & \text{if } \mu \geq 1. \end{cases} \tag{7}$$

For $\mu < -1$ or $\mu > 1$, the equation holds if and only if, $\phi(z) = z$ or one of its rotations. For $-1 < \mu < 1$, the equation holds if and only if, $\phi(z) = z^2$ or one of its rotations. Equality holds for $\mu = -1$ if and only if $\phi(z) = (z \frac{\lambda+z}{1+\lambda z}), (0 \leq \lambda \leq 1)$ or one of its rotations. While $\mu = 1$, equation holds if and only if $\phi(z) = (-z \frac{\lambda+z}{1+\lambda z}), (0 \leq \lambda \leq 1)$ or one of its rotations.

Lemma 2.2. [7] If $\phi \in \Omega$ then $|\phi_2 - \mu \phi_1^2| \leq \max \{1, |\mu|\}$, for any complex number μ . The result is sharp for the function $\phi(z) = z$ or $\phi(z) = z^2$.

Theorem 2.1.

$$\left(\frac{z \partial_q f(z)}{f(z)} - 1 \right) \prec \begin{cases} \frac{e^{-i\alpha(A-B)\cos \alpha z}}{1+Bz}, & B \neq 0 \\ e^{-i\alpha} A \cos \alpha z, & B = 0 \end{cases}$$

$f(z) = z + a_2 z^2 + a_3 z^3 + \dots, f(z) \in S_{\alpha}^*(A, B, q)$ if and only if

(8)

Proof. Let $f(z)$ be an element of $S_{\alpha}^*(A, B, q)$. We define $\phi(z)$ by: $(1 + B\phi(z)) \frac{(A-B)\cos \alpha e^{-i\alpha} f(z)}{B} = (1 + eA \cos \alpha e^{-i\alpha} z) B, B \neq 0, (9) z eA \cos \alpha e^{-i\alpha}, B = 0,$

where $(1 + B\phi(z)) \frac{(A-B)\cos \alpha e^{-i\alpha}}{B}$ and $eA \cos \alpha e^{-i\alpha}$ have the value at $z = 0$. Then $\phi(z)$ is analytic and $\phi(0) = 0$. If we take logarithmic derivative from (9) and after simple calculations, we get (10)

$$\left(\frac{z \partial_q f(z)}{f(z)} - 1 \right) = \begin{cases} \frac{(A-B)\cos \alpha e^{-i\alpha} z \partial_q \phi(z)}{1+B\phi(z)}, & B \neq 0 \\ A \cos \alpha e^{-i\alpha} z \partial_q \phi(z), & B = 0 \end{cases}$$

We can easily conclude that this subordination is equivalent to $|\phi(z)| < 1$ for all $z \in E$. On the contrary let us assume that there exists $z_1 \in E$, such that $|\phi(z)|$ attains its maximum value on the circle $|z| = r$, that is $|\phi(z_1)| = 1$. Then when the conditions $z_1 \partial_q \phi(z_1) = L(z_1), L \geq 1$ are satisfied for such $z_1 \in E$ (Using Jack's Lemma), we obtain;

(11)

which contradicts (10) implying that the assumption is wrong, i.e., $|\phi(z)| < 1$ for all $z \in E$. This shows that

(12)

Conversely, $f(z) \in S_{\alpha}^*(A, B, q) \Rightarrow \left(\frac{z \partial_q f(z)}{f(z)} - 1 \right) \prec \begin{cases} \frac{e^{-i\alpha(A-B)\cos \alpha z}}{1+Bz}, & B \neq 0 \\ e^{-i\alpha} A \cos \alpha z, & B = 0 \end{cases}$

(13)

$$\left(\frac{z \partial_q f(z)}{f(z)} - 1 \right) \prec \begin{cases} \frac{e^{-i\alpha(A-B)\cos \alpha z}}{1+Bz}, & B \neq 0 \\ e^{-i\alpha} A \cos \alpha z, & B = 0, \end{cases}$$

$$\Rightarrow e^{i\alpha} z \frac{\partial_q f(z)}{f(z)} = \begin{cases} \cos \alpha \frac{1+A\phi(z)}{1+B\phi(z)} + i \sin \alpha, & B \neq 0 \\ \cos \alpha (1 + A\phi(z)) + i \sin \alpha, & B = 0 \end{cases}$$



$$(14) \quad \begin{aligned} &= 0, \\ &= 0. \end{aligned}$$

This shows that $f(z) \in S_{\alpha}^*(A, B, q)$.

Now we proceed to establish Coefficient bounds for the m th root transformation,

Theorem 2.2. If and G is the m th root transformation of f given by (1), then

$$f = z + \sum_{n=2}^{\infty} a_n z^n, f \in S_{\alpha}^*(A, B, q)$$

$$\left\{ \begin{aligned} & - \left[-\frac{B(A-B)}{([3]_q-1)m} + \left[\frac{(A-B)^2}{([3]_q-1)([2]_q-1)m} - \frac{(A-B)^2}{2([2]_q-1)^2m} \right] + \frac{(A-B)^2(1-2\mu)}{2m^2([2]_q-1)^2} \right], & \text{if } \mu \geq \sigma_2, B \neq 0 \\ & - \frac{B(A-B)}{([3]_q-1)m} + \left[\frac{(A-B)^2}{([3]_q-1)([2]_q-1)m} - \frac{(A-B)^2}{2([2]_q-1)^2m} \right] + \frac{(A-B)^2(1-2\mu)}{2m^2([2]_q-1)^2}, & \text{if } \mu \leq \sigma_1, B \neq 0, \\ & |c_{2m+1} - \mu c_{m+1}^2| \leq \left\{ \frac{A-B}{([3]_q-1)m}, \right. & \sigma_1 \leq \mu \leq \sigma_2, B \neq 0 \end{aligned} \right. , ,$$

where

$$\sigma_1 = \frac{1}{2} \left[1 - \frac{([2]_q - 1)^2 m (2B + ([3]_q - 1)) e^{i\alpha}}{([3]_q - 1)(A - B) \cos \alpha} - \frac{2([2]_q - 1)m}{[3]_q - 1} + m \right]$$

and

$$\sigma_2 = \frac{1}{2} \left[1 - \frac{([2]_q - 1)^2 m (2B - ([3]_q - 1)) e^{i\alpha}}{([3]_q - 1)(A - B) \cos \alpha} - \frac{2([2]_q - 1)m}{[3]_q - 1} + m \right]$$

Proof. If $f(z) \in S_{\alpha}^*(A, B, q)$ then there is an analytic function $\phi \in \Omega$ of the form (8) such that $\frac{z \partial_q f(z)}{f(z)} - 1 = \begin{cases} \frac{e^{-i\alpha}(A-B) \cos \alpha \phi(z)}{1+B\phi(z)}, & \text{if } B \neq 0, \\ e^{-i\alpha} A \cos \alpha \phi(z), & \text{if } B = 0. \end{cases}$

Further,

$$\frac{e^{-i\alpha}(A - B) \cos \alpha \phi(z)}{1 + B\phi(z)} = \frac{e^{-i\alpha}(A - B) \cos \alpha [\phi_1 z + \phi_2 z^2 + \dots]}{1 + B[\phi_1(z) + \phi_2 z^2 + \dots]} \quad (15)$$

$$\begin{aligned} & \frac{e^{-i\alpha}(A - B) \cos \alpha \phi(z)}{1 + B\phi(z)} \\ &= e^{-i\alpha}(A - B) \cos \alpha [\phi_1 z + (\phi_2 - B\phi_1^2) z^2 + \dots]. \end{aligned}$$

$$\left(\frac{z_1 \partial_q f(z_1)}{f(z_1)} - 1 \right) = \begin{cases} \frac{(A-B) \cos \alpha e^{-i\alpha} L\phi(z_1)}{1+B\phi(z_1)} = f_1(\phi(z_1)) \in f_1(E), & B \neq 0 \\ A \cos \alpha e^{-i\alpha} L\phi(z_1) = f_2(\phi(z_1)) \notin f_2(E), & B = 0, \end{cases}$$

(16)

We have

$$\frac{z \partial_q f(z)}{f(z)} - 1 = e^{-i\alpha}(A - B) \cos \alpha [\phi_1 z + (\phi_2 - B\phi_1^2) z^2 + \dots] \quad (17)$$

so that

$$\left(\frac{z + [2]_q a_2 z^2 + [3]_q a_3 z^3 + \dots}{z + a_2 z^2 + a_3 z^3 + \dots} - 1 \right) = e^{-i\alpha}(A - B) \cos \alpha [\phi_1 z + (\phi_2 - B\phi_1^2) z^2 + \dots] \quad (18)$$

From (20) and (21), we get

$$a_2 = \frac{e^{-i\alpha}(A - B) \cos \alpha \cdot \phi_1}{[2]_q - 1} \quad (19)$$

$$a_3 = \frac{1}{[3]_q - 1} \left[e^{-i\alpha}(A - B) \cos \alpha (\phi_2 - B\phi_1^2) + \frac{1}{[2]_q - 1} e^{-i2\alpha}(A - B)^2 \cos^2 \alpha \cdot \phi_1^2 \right]$$

For function f given by (1) simple computation yields

$$[f(z^m)]^{\frac{1}{m}} = z + \frac{1}{m}a_2z^{m+1} + \left(\frac{1}{m}a_3 - \frac{1}{2}\frac{m-1}{m^2}a_2^2\right)z^{2m+1} + \dots \tag{21}$$

The equations (5) and (24) yields

$$c_{m+1} = \frac{1}{m}a_2 \tag{22}$$

$$c_{2m+1} = \frac{1}{m}a_3 - \frac{1}{2}\frac{m-1}{m^2}a_2^2. \tag{23}$$

by using (22) and (23) in (25) and (26), it follows

$$\begin{aligned} c_{m+1} &= \frac{1}{[2]_q - 1)m} e^{-i\alpha}(A - B) \cos \alpha \phi_1 \\ c_{2m+1} &= \frac{1}{2m} e^{-i\alpha}(A - B) \cos \alpha \left[\frac{2}{[3]_q - 1} \left(\phi_2 - B\phi_1^2 + \frac{1}{([2]_q - 1)} e^{-i\alpha}(A - B) \cos \alpha \phi_1^2 \right) \right. \\ &\quad \left. - \frac{1}{2} \left(\frac{m-1}{m^2} \right) \frac{1}{([2]_q - 1)^2} e^{-i2\alpha}(A - B)^2 \cos^2 \alpha \phi_1^2 \right] \\ &= \frac{1}{2m} e^{-i\alpha}(A - B) \cos \alpha \left\{ \frac{2}{[3]_q - 1} \phi_2 - \frac{(2B)}{([3]_q - 1)} \phi_1^2 + \left(\frac{2}{([3]_q - 1)([2]_q - 1)} - \frac{1}{([2]_q - 1)^2} \right) e^{-i\alpha}(A - B) \cos \alpha \phi_1^2 \right. \\ &\quad \left. + \frac{1}{([2]_q - 1)^2 m} e^{-i\alpha}(A - B) \cos \alpha \phi_1^2 \right\} \end{aligned}$$

and hence

$$c_{2m+1} - \mu c_{m+1}^2 = \frac{1}{2m} e^{-i\alpha}(A - B) \cos \alpha \left\{ \frac{2}{[3]_q - 1} \phi_2 - \left[\frac{(2B)}{([3]_q - 1)} - N \cos \alpha \right] \phi_1^2 \right\},$$

where $N = \frac{2}{([3]_q - 1)([2]_q - 1)} - \frac{1}{([2]_q - 1)^2} + \frac{1 - 2\mu}{([2]_q - 1)^2 m} e^{-i\alpha}(A - B)$.

The first result is established by an application of Lemma 2.1. If

$$\frac{2}{[3]_q - 1} B - \left(\frac{2}{([3]_q - 1)([2]_q - 1)} - \frac{1}{([2]_q - 1)^2} + \frac{1 - 2\mu}{([2]_q - 1)^2 m} \right) e^{-i\alpha}(A - B) \cos \alpha \leq -1$$

then

$$\mu \leq -\frac{1}{2} \left[\frac{([2]_q - 1)^2 m (2B + ([3]_q - 1)) e^{i\alpha}}{([3]_q - 1)(A - B) \cos \alpha} - \frac{2([2]_q - 1)m}{[3]_q - 1} + m - 1 \right], \quad (\mu \leq \sigma_1)$$

by Lemma 2.1

$$|c_{2m+1} - \mu c_{m+1}^2| \leq \begin{cases} -\frac{B(A-B)}{([3]_q - 1)m} + \left[\frac{A-B}{([3]_q - 1)([2]_q - 1)m} - \frac{A-B}{2([2]_q - 1)m} \right] + \frac{(A-B)^2}{2m^2([2]_q - 1)^2} (1 - 2\mu), & \text{if } B \neq 0 \\ \frac{A^2}{m([2]_q - 1)} \left[\frac{1}{[3]_q - 1} - \frac{1}{2} \right] + \frac{A^2}{2m^2([2]_q - 1)^2} (1 - 2\mu), & \text{if } B = 0. \end{cases}$$

If

$$-1 \leq \frac{2}{[3]_q - 1} B - \left(\frac{2}{([3]_q - 1)([2]_q - 1)} - \frac{1}{([2]_q - 1)^2} + \frac{1 - 2\mu}{2([2]_q - 1)^2 m} \right) e^{-i\alpha}(A - B) \cos \alpha \leq 1$$

then

$$\frac{1}{2} \left[1 - \frac{([2]_q - 1)^2 m (2B + ([3]_q - 1)) e^{i\alpha}}{([3]_q - 1)(A - B) \cos \alpha} - F \right] \leq \mu \leq \frac{1}{2} \left[1 - \frac{([2]_q - 1)^2 m (2B - ([3]_q - 1)) e^{i\alpha}}{([3]_q - 1)(A - B) \cos \alpha} - F \right]$$

where $F = \frac{2([2]_q-1)m}{[3]_q-1} + m$,
and Lemma 2.1 yields

$$|c_{2m+1} - \mu c_{m+1}^2| \leq \begin{cases} \frac{(A-B)}{([3]_q-1)m}, & \text{if } B \neq 0 \\ \frac{A}{([3]_q-1)m}, & \text{if } B = 0. \end{cases}$$

If

$$\frac{2}{[3]_q-1} B - \left[\frac{2}{([3]_q-1)([2]_q-1)} - \frac{1}{([2]_q-1)^2} + \frac{1-2\mu}{([2]_q-1)^2 m} \right] e^{-i\alpha} (A-B) \cos \alpha \geq 1$$

then,

$$\mu \geq \frac{1}{2} \left[1 - \frac{([2]_q-1)^2 m (2B - ([3]_q-1)) e^{i\alpha}}{([3]_q-1)(A-B) \cos \alpha} - \frac{2([2]_q-1)m}{[3]_q-1} + m \right], (\mu \geq \sigma_2)$$

$$|c_{2m+1} - \mu c_{m+1}^2| = \begin{cases} \frac{B(A-B)}{([3]_q-1)(A-B) \cos \alpha} - \frac{(A-B)^2}{([3]_q-1)([2]_q-1)m} + \frac{(A-B)^2}{2m([2]_q-1)} - \frac{(A-B)^2(1-2\mu)}{2m^2([2]_q-1)^2}, & \text{if } B \neq 0 \\ \frac{-A^2}{([2]_q-1)m} \left(\frac{1}{[3]_q-1} - \frac{1}{2} \right) - \frac{A^2(1-2\mu)}{2m^2([2]_q-1)}, & \text{if } B = 0 \end{cases}$$

it follows from Lemma 2.1 that

$$= 0, \text{ or}$$

The second result follow by an application of Lemma 2.2

$$\leq \begin{cases} \frac{(A-B)}{([3]_q-1)m} \max \left\{ 1, \left| \frac{(2B)}{([3]_q-1)} - \left(\frac{2}{([3]_q-1)([2]_q-1)} - T \right) e^{-i\alpha} (A-B) \cos \alpha \right| \right\}, & \text{if } B \neq 0, \\ \frac{A}{([3]_q-1)m} \max \left\{ 1, \left| \left(\frac{2}{([3]_q-1)([2]_q-1)} - T \right) e^{-i\alpha} A \cos \alpha \right| \right\}, & \text{if } B = 0. \end{cases}$$

where $H = \left(\frac{2}{([3]_q-1)([2]_q-1)} - \frac{1}{([2]_q-1)^2} \right) e^{-i\alpha} (A-B) \cos \alpha \phi_1^2 + \frac{1-2\mu}{m([2]_q-1)^2} e^{-i\alpha} (A-B) \cos \alpha \phi_1^2$,
and $T = \frac{1}{([2]_q-1)^2} + \frac{1-2\mu}{([2]_q-1)^2 m}$.

By putting $m = 1, A = 1, B = -1$, and $\alpha = 0$ in the Theorem 2.2, we get the following:

Theorem 2.3. If $f \in \mathcal{A}$ satisfies $\frac{z \partial_q f(z)}{f(z)} \prec \frac{1+z}{1-z}$. Then

$$|a_3 - \mu a_2^2| \leq \begin{cases} \frac{2}{[3]_q-1} + \frac{4}{([3]_q-1)([2]_q-1)} - \frac{2}{([2]_q-1)^2} + \frac{2}{([2]_q-1)^2} - \frac{4\mu}{([2]_q-1)^2}, & \text{if } \mu \leq \rho, \\ \frac{2}{[3]_q-1}, & \rho \leq \mu \leq \delta \end{cases}$$

$$\left(- \left[\frac{2}{[3]_q-1} + \frac{4}{([3]_q-1)([2]_q-1)} - \frac{2}{([2]_q-1)^2} + \frac{2}{([2]_q-1)^2} - \frac{4\mu}{([2]_q-1)^2} \right] \right), \mu \geq \delta$$

where $\rho = \frac{1}{2} \left[1 - \frac{([2]_q-1)^2(-2+([3]_q-1))}{2([3]_q-1)} - \frac{2[2]_q-1}{[3]_q-1} + 1 \right], \delta = \frac{1}{2} \left[1 - \frac{([2]_q-1)^2(-2-([3]_q-1))}{2([3]_q-1)} - \frac{2[2]_q-1}{[3]_q-1} + 1 \right]$

As $q \rightarrow 1$ in the above Theorem we get the following result proved by Annamalai[3]

Corollary 2.1. If $f \in \mathcal{A}$ satisfies $\frac{z f'(z)}{f(z)} \prec \frac{1+z}{1-z}$. Then

$$|a_3 - \mu a_2^2| \leq \begin{cases} 3 - 4\mu & \text{if } \mu \leq \frac{1}{2}, \\ 1 & \text{if } \frac{1}{2} \leq \mu \leq 1, \end{cases} \quad (24)$$

$$\square -(3 - 4\mu) \quad \text{if } \mu \geq 1.$$

By putting $m = 1, A = 1, B = 0,$ and $\alpha = 0$ in the Theorwe 2.2, we get the following:

Theorem 2.4. If $f \in \mathcal{A}$ satisfies $\frac{z\partial_q f(z)}{f(z)} \prec 1 + z$. Then

$$|a_3 - \mu a_2^2| \leq \begin{cases} \frac{1}{[3]_{q-1}}, & \text{if } \mu \leq \rho, \\ - \left[\frac{1}{([3]_{q-1})([2]_{q-1})} - \frac{1}{([2]_{q-1})^2} + \frac{1-2\mu}{2([2]_{q-1})^2} \right], & \mu \geq \delta, \end{cases}$$

$$\text{where } \rho = \frac{1}{2} \left[2 - \frac{([2]_{q-1})^2(-2+([3]_{q-1}))}{2([3]_{q-1})} \right], \delta = \frac{1}{2} \left[2 - \frac{([2]_{q-1})^2(-2+([3]_{q-1}))}{2([3]_{q-1})} \right]$$

As $q \rightarrow 1$ -in the above Theorem we get the following result proved by Annamalai[3]

Corollary 2.2. If $f \in \mathcal{A}$ satisfies $\frac{zf'(z)}{f(z)} \prec \frac{1+z}{1-z}$. Then

$$|a_3 - \mu a_2^2| \leq \begin{cases} \frac{1-2\mu}{2} & \text{if } \mu \leq 0, \\ \frac{1}{2} & \text{if } 0 \leq \mu \leq 1, \\ -\left(\frac{1-2\mu}{2}\right) & \text{if } \mu \geq 1. \end{cases} \quad (25)$$

By putting $m = 1, A = \beta, B = 0,$ and $\alpha = 0, 0 \leq \beta < 1$ in the Theorem 2.2, we get the following:

Theorem 2.5. If $f \in \mathcal{A}$ satisfies $\frac{z\partial_q f(z)}{f(z)} \prec 1 + \beta z$. Then

$$|a_3 - \mu a_2^2| \leq \begin{cases} \frac{1}{[3]_{q-1}}, & \rho \leq \mu \leq \delta \\ \left(\frac{\beta^2}{([3]_{q-1})([2]_{q-1})} - \frac{\beta^2}{([2]_{q-1})^2} + \frac{\beta^2(1-2\mu)}{2([2]_{q-1})^2} \right), & \text{if } \mu \leq \rho, \\ - \left[\frac{\beta^2}{([3]_{q-1})([2]_{q-1})} - \frac{\beta^2}{([2]_{q-1})^2} + \frac{\beta^2(1-2\mu)}{2([2]_{q-1})^2} \right], & \mu \geq \delta, \end{cases}$$

$$\text{where } \rho = \frac{1}{2} \left[2 - \frac{([2]_{q-1})^2([3]_{q-1})}{([3]_{q-1})\beta} - \frac{2([2]_{q-1})}{[3]_{q-1}} \right], \delta = \frac{1}{2} \left[2 + \frac{([2]_{q-1})^2([3]_{q-1})}{([3]_{q-1})\beta} - \frac{2([2]_{q-1})}{[3]_{q-1}} \right]$$

As $q \rightarrow 1$ -in the above Theorem we get the following result proved by Annamalai[3] Corollary 2.3. If f

$\in \mathcal{A}$ satisfies $\frac{zf'(z)}{f(z)} \prec \frac{1+z}{1-z}$. Then

$$|a_3 - \mu a_2^2| \leq \begin{cases} \frac{\beta^2(1-2\mu)}{2} & \text{if } \mu \leq \frac{\beta-1}{2\beta}, \\ 1 - \beta & \text{if } \frac{\beta-1}{2\beta} \leq \mu \leq \frac{\beta+1}{2\beta}, \\ -\left(\frac{\beta^2(1-2\mu)}{2}\right) & \text{if } \mu \geq \frac{\beta+1}{2\beta}. \end{cases} \quad (26)$$

By putting $m = 1, A = \beta, B = -\beta,$ and $\alpha = 0, 0 \leq \beta < 1$ in the Theorem 2.2, we get the following:

Theorem 2.6. If $f \in \mathcal{A}$ satisfies $\frac{z\partial_q f(z)}{f(z)} \prec \frac{1+\beta z}{1-\beta z}$. Then

$$|a_3 - \mu a_2^2| \leq \begin{cases} \frac{2\beta^2}{([3]_{q-1})} + \frac{(2\beta)^2}{([2]_{q-1})([3]_{q-1})} - \frac{(2\beta)^2}{([2]_{q-1})([3]_{q-1})} + \frac{4\beta^2(1-2\mu)}{2([2]_{q-1})^2}, & \text{if } \mu \leq \rho, \\ \frac{\beta+\beta}{[3]_{q-1}}, & \rho \leq \mu \leq \delta \end{cases}$$

$$\left(- \left[\frac{2\beta^2}{([3]_{q-1})} + \frac{(2\beta)^2}{([2]_{q-1})([3]_{q-1})} - \frac{(2\beta)^2}{([2]_{q-1})([3]_{q-1})} + \frac{4\beta^2(1-2\mu)}{2([2]_{q-1})^2} \right] \right), \quad \mu \geq \delta$$

$$\text{where } \rho = \frac{1}{2} \left[2 - \frac{([2]_{q-1})^2(-2\beta+([3]_{q-1}))}{2([3]_{q-1})\beta} - \frac{2([2]_{q-1})}{[3]_{q-1}} \right], \delta = \frac{1}{2} \left[2 + \frac{([2]_{q-1})^2(2\beta+([3]_{q-1}))}{2([3]_{q-1})\beta} - \frac{2([2]_{q-1})}{[3]_{q-1}} \right]$$

If $q \rightarrow 1$ -in the above Theorem we get the following result proved by Annamalai[3]

Corollary 2.4. If $f \in \mathcal{A}$ satisfies $\frac{zf'(z)}{f(z)} \prec \frac{1+z}{1-z}$. Then

$$\begin{aligned}
 & \square 2(3 - 4\mu) \text{ if, } \beta \\
 & \square \square \beta \\
 & |a_3 - \mu a_2| \leq 2 \\
 & \square \square -(\beta 2(3 - 4\mu)) \text{ if } \mu \geq \frac{3\beta+1}{4\beta} .
 \end{aligned}
 \quad
 \begin{aligned}
 & \mu \leq \frac{3\beta-1}{4\beta} \\
 & \frac{3\beta-1}{4\beta} \leq \mu \leq \frac{3\beta+1}{4\beta} \\
 & \text{if,} \\
 & \text{(27)}
 \end{aligned}$$

III. CONCLUSION

In this paper we found Janowski α - q -spirallike with power series of the form and its properties.

References

1. Ali, R. M., Lee, S. K., Ravichandran, V. and Supramanian, S., The Fekete-Szego Coefficient functional for transforms of analytic functions., Bulletin of the Iranian math. Soc.vol., 35(2)(2009), 119-142.
2. Ali, R. M. Ravichandran, V. and Seenivasagan, N., Coefficient bounds for p -valent functions, Appl. Math. Comput. 187(1)(2007), 35-46.
3. Annamalai, S., Ramachandran, C. and Murugusundaramoorthy, G., Fekete Szego Coefficient for the Janowski α -spirallike functions in the unit disk, Int. J. Math. Anal. Vol., 8(19)(2014), 931-938.
4. Goodman, A. W., Univalent functions, Vol I. Mariner Publishing, Tampa Florida, 1984.
5. Jack, I. S., Functions starlike and convex of order α , J. London. Math. Soc., 3(2)(1971) .
6. F. Jackson, On q -functions and a certain difference operator, Trans. Royal Soc., Edinburgh, 46(1909), 253-281.
7. Koehn, F. R. and Merkes, E. P., A Coefficient inequality for certain classes of analytic functions, Proc. Amer. Math. Soc., 20(1969), 8-12.
8. Libera, R. J., Univalent -Spirallike functions, Canad. J. Math., 19(1967), 449-456.
9. Padmanabhan, K. S. and Ganesan, M. S., Convolution conditions for certain classes of analytic functions, Indian J. pure. appl. Math., 15(7)(1984), 777-780.
10. Polatoglu, Y., Growth and distortion theorem for the Janowski - Spirallike functions in the unit disc. Stud Univ. Babeş-Bolyai Math. 57(2)(2012), 255-259.
11. Polatoglu, Y. and Sen, A., Some results on subclasses of Janowski -spirallike functions of complex order. Gen. Math, 15(2-3)(2007), 88-97.
12. Ravichandran, V., Selvaraj, C. and Rajalakshmi Rajagopal, On uniformly convex spiral functions and uniformly spirallike function, Soochow J. Math., 29(4)(2003), 392-405.
13. Robertson, M. S., Univalent functions $f(z)$ for which $zf'(z)$ is spirallike, Mich. Math. J., 16(1969), 97-101.
14. Spacek, L., Prispěvek k teorii funkei prostych, Čapopis Pest. Math. Fys., 62(1933), 12-19.

AUTHORS PROFILE

READ. S. A. QAHTAN ³Department of Mathematics, Yuvaraja's College, University of Mysore, Mysore 570005, INDIA

HAMID SHAMSAN, Department of Mathematics, Yuvaraja's College, University of Mysore, Mysore 570005, INDIA

S. LATHA ³Department of Mathematics, Yuvaraja's College, University of Mysore, Mysore 570005, INDIA